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Intermediate Algebra

Unit 1 Review

!

Period

Graph each inequality to find the solution region. List one possible solution for each inequality.

[111. I can demonsirate understanding of how to represent a region on a graph with an inequality.
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Graph the system of inequalities to find the solution region. List one possible solution for the
y

system. A
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6. Verify algebraically that the solution you chose in Problem 5 is corre\é

WOIRY. RABOVE

7. Given -3x — 4y > 10 determine algebraically if the following points are solution. Explain why or why not.

a. (2.3 b. (0, 0) e (=1=7)
~3 () -ul-3) 2V 2 -3(0)-4(0) 710 -3(~) -4 (-7) 710
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8. Use the graph of the system of inequalities to determine if each point is in the solution region. Explain

why or why not for each point. 7
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~
a. (0,1)  Solution: YES 5 T
Explanation: f : 5

NET in Shaded n:q'\on

b (5.4)  Solution: (ED NO

Explanation: : A
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e. (0, -3) Solution: YES @

Explanation:

N . .

d. (6,2)  Solution: YES .
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Write an inequality for each graph. 2 2 q
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10. A person less than 16 years of age can work up to 40 hours per week according to child
labor laws. A 15 year old student plans on working two jobs this summer, one at a fast food
restaurant and one at a retail store.

a. Write and graph an inequality that represents the possible number of hours the
student can work. Let x represent the hours worked at the fast food restaurant and y the
hours worked at the retail store.

X+ £40 s
b. What does the point (10, 13) represent in this ;g 2
?
Problem? . 10 \ws. (@ fast food vestauran t £ 20 ?/7‘ ,
‘A3 \Wxs.(@ veroilstore d7/ 47
& 15 L7
T s the point (10, 13) a solution? Why or why not? " /:’/ /,//;%:\
. \Wava A\,
\IES, Yo S\f\-C\.d.Q.d Yech\or\, 2y’// AN
d. What does the point (25, 16) represent in this problem? 0 5 10 15 20 25 30 35 40 45
<25 hrs e FF_ Fast food hours

\@ s @ vieten |
Is the point (25, 16) a solution? Why or why not?

NO , nor-inshoded Yeqion

o

11. Admission prices were $12 for adults and $6 for students. The theater needs to make at least

$10,000. b S lj
a. Write an inequality to represent the amount of money made from ticket sales:

| L% +Lex.5_z \0.bo O

b. What is the minimum number of adult tickets the theater needs to sell to make at least $10,000 if
they have sold 1200 student tickets? Ay 2 21900

\
(2% + (¢ (1200) 2 10,000 _
(2% +T1200 2 \0,000 B 2155 adul{“hq
~7200 — 7200
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12. Explain the reason for needing dashed and solid lines when graphing linear inequalities.
. doghed 1S whun Yoo cannot inclode pts. on
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13. Write an inequality where (1, 3) is on the boundary line and not a solution and (5, 6) is not on the
boundary line and is a solution.
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